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This is 112 — 293597

Overview

The X713 states that the mwa 7% of our 7I1wn teaches us to include the case
(mentioned in a different mwn) of 291w 12°8kM YN (where they are 2m if
7"2 warned them Mn09 yp?). The & ma asks that seemingly no mwn 7% is
necessary for it is similar to M2 (if he was 7°pon the 12°K1 2m> then it is
similar to 712 according to everyone, and in a case of PR XY according
to PXmw). Our Mmoo will discuss when the 19°RY Hm> actually did the
damage; while they were falling (where it i1s seemingly similar to ¥X), or
after they came to a rest (where it is similar to 712).

— N9 NY9) NYYA 19N HMD 1P21NYI 9999197 NI NIINDY
It seemingly appears that the X713 is discussing a case where the wall and

the tree caused damage while they were actually falling (not after they fell) -

= 9729 19D NN 291 19N
And nevertheless' the X713 compares the case of 291 19°X1 9013, to the
case of 712.

moon will now prove that the 19°&1 YM> damaged while in motion, (and nevertheless it is
similar to 712 [and not to WX])

— YN 1N PP STINPT $1Na SN KON MNP K91
Since the X773 does not say here (as it said in previous cases) ‘if it

damaged while moving then it is the same as WR’. The reason the X3 does
not say this, is because the X3 assumes that the 12°X1 915 damaged while in motion [and
nevertheless the &7723 would rather compare it to 712 (and not to WX)].

moon offers another reason that we must assume that the case of 19X 5M1277 is in a
situation where it damaged while moving and not after it came to rest.

— DYYIN VI INNN 9991 NDIAY INNDT PN INT NI
And in addition if 12°Xm m>i is in a situation where the damage was

done after it fell and came to a rest’, then why is he exempt from paying
for the damages he caused (when 72 did not order him Mo Yp2); for even though the
12981 P> fell onr3, nevertheless —

— 19909 19 50 1912 1993 %3 XY

! A 112 damages in its place without moving, while the 12°X1 m32 damaged while moving, and nevertheless
the X3 considers 1291w 12°KmM 201577 to be similar to 712 (as moon will shortly explain).

? At this point mooIN is assuming, that is why it is compared to Ma. However if it damaged 7201 nyw3 it
would be similar to wX.
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Once they fell, he should have removed it immediately. He is a yu1o for not
removing the 72°X) N3, and should be held liable for all damages caused by them after
they came to rest and he was able to remove them”.

mooin offers an additional proof that the 12°X1 M3 cannot be discussing a case where it
damaged 119°51 NXY:
— INOLY NIPY 2aNNY DY NN ND 15 ONT T

And furthermore® if it was so (that it damaged 72°51 9nXY), then the 73w
should not have stated ‘if they gave him time to chop down (the tree) and

dismantle (the wall)’, then he is 2n; for the damage did not occur on account of a
falling tree and wall; it happened after it came to rest -
— 599N 1993 AINTT PIXNAT 113 ¥PYOD) 1INI0Y 19119 13N NUN

But rather the 71wn should have stated; ‘they gave him time to clear and
remove the fallen 12°X1 Pm>’, since we are discussing a damage that

occurred after it fell. The reason he is liable is because he neglected to remove the
debris; not because he failed to chop down or dissemble the tree and the wall’.

mooIn concluded that the case of 12°8m Pmon is when they damaged 7%°91 nywa and the
X3 compares it to 2. MoOIN anticipates the obvious question (which was mentioned
previously), that -

= 1P DTN TN PITAY TN PN AT ) by 9N

Even though =12 does not move to cause damage (but rather it damages in

its place), and these (the 1791w 77°X) Pn10) are moving and damaging; how
can we derive them from 712 since they are different?!

mooIn responds that nevertheless -
— M2 071155 1Y v

We can derive from 712 that they are 27n -
— 1273 PO NIN PO1) THIN 1ONY N30 PPN D29INY INTHT PN §>7vT

For their manner of damaging (by 12°X1 Yn2), where they move and
damage, is a greater cause for liability than 912 is, since 712 does not move
and damage, but rather it damages in its place®.

mooIn concluded that the 7w of 19°8M M1 is in a case where they were 72°51 nywa poin.
Now noon directs his attention to a case where they were 717791 R poin:

3 See (71x7) R"wann who explains that nooin is referring to the case where 171°paR X?; for if 111poK then
it is a case of DI 72°51 R PP11 PO where he is MWD, as MBOIN just mentioned in the previous *X 7"7.

* Perhaps Moo means that even if we can refute the previous proof and argue that the reason he is 719
(when 7"2 did not allot him time) is because we are discussing a case where the damage was done ( nX?
2'01) before the owner was able to remove the debris; nevertheless there is this additional proof.

> If he had time 1n119% then he will be 27 even if it damaged during the allotted time of 2301 P175.

® There is more reason to hold the 12X 5m3(77 %¥2) liable than the Ma71 »¥2. The fact that 12°X1 Ym0 is T
?°11 does not prevent us from deriving them from 712. On the contrary they are more 711 thanm12. If 912 is
211 then 12°K) 7015 are certainly 211, moon, however did not explain (yet) why 12°81 9m3 that damaged
72°01 nyw3, should not be derived from wx. See ‘Thinking it over” # 1.
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— DYYIN VDY 199N 81 ) NDDY INNRDT PIINAT NI
And it seems that the 71w» may also be discussing a case where the 5n1

1R damaged 79°21 °nX> and yet they are exempt from paying (when 72
did not order them [M1971] N0 7IR5.

moon will now reconcile this last statement with that which n1901n previously argued that
if it damaged n%°51 71X then he should be 2n (even if 7"2 did not warn him), for he
neglected to remove the damaging article; N19010 responds:

— 9912 75 D5 IPYDY 19D XD 1T IN 1993V 1PT¥a ¥ NIV 1119

And for instance that the owner was not aware that the 17°x1 7> fell, or
(even) if they knew that it fell, however they were not able to remove it

that quickly and it caused damage before the owner could prevent it, therefore they are
705.

moon will now respond to an additional earlier proof that we cannot be discussing a P11
271 INNRY:
— 999910 9123 NI N9 PIINAT DIYN INMIDDY 1PDOY 11T 1D 1IN 1INP NIT XM

And the reason the mwn did not state, ‘they gave him time to remove
and clear away the obstacle’, which is the appropriate warning if we are
discussing a 779°01 KXY pr7; it is because the mwn is also discussing a case

where it damaged while it was actually falling; the mwn is including both
cases: where it damaged n%°51 nyw3a and also 7951 nKR%. Therefore it was necessary to
mention that N0 Y2 111 192 1101 which applies to a 77°01 nywa P -

— NP INMIDT NNV NIPY 1197 19NN

And indeed the 71w» means that ‘they gave him time to (either) chop or

dissemble (in the case of 779°01 nyw2 prn) and to clear the debris (in the case of
79701 ANRY pron).’

mooIn deals now with his original argument; if we are (also) discussing a 72°91 nywa pPrn
why did not the X713 compare it to WX as opposed to M2:
— YNDM) 290 912D N NNTHT 9V INN NOIYM

And now (that the mwn is discussing both cases, 72°91 nywa and 777701 NR?)
it is properly understood that the X nx compares 17°X1 M3 to =12 rather

than to WX (the X3 does not say WX 77 *prap 2IRPT 7712 OR) -
— 9925 199 UNY IMNTY ¥ N99) NYWAT 23 HY N

And even though that in a case of 779951 nywa, the 17°X1 ’M> can be equally
compared to WX as well as to ™12 -

mooIn will explain why 2121 WX are equally similar to 12°1 5n13:

7 When 7"2 ordered him to remove the crumbling wall or rotting tree, they allotted him the necessary time
to both dismantle and remove it. The 71wn did not deem it necessary to enumerate all the types of warnings
that are given to him for the different types of damages that can occur. It was sufficient to mention the
warning for one type of damage 177°51 nyw32 (which is 70?1 ¥7p%) and it would be understood the type of
warning included for a damage 117°01 9> (which is mib).

3

TosfosInEnglish.com



17 0" "0 R, P L0

= PV INMYY NDINH PRY N1 PITN 913199 12 29191 NN ND PRY NN PITN YNRNT
For 17°% P> are different from wX by the fact that there is no other
force intermingled in its; and 17°x1 5> are different from =12 by the fact

that they were not initially created to cause damage’; so since 1% 5 are
equally similar (or dissimilar) to 7121 WX, why does the X713 compare then only to M127?!

mooIn explains:
$9920 NON WNRD 595 1mMnNTH PR 1593 INNRDT PIINAT DIVN NaD IMN N1IT 7Y NON

Rather the X713 compares them to =12 because in the case of a nRY P17
79901 (where they damaged in their place), they cannot be compared at all

to wX (which causes damage when it moves) but only to =2 (which damages
only in its place)'’.

Summary
The mwn of 1991w 12°8M HmMon is discussing both cases whether they

damaged 177°51 NYW2 or 72°51 INKRS.

Thinking it over

1. m»o1n mentioned that 17°KY M2 that damaged n2°51 nywa are Man 77y
since they are 2P 0°5711. How then does the X3 state that we cannot
derive them from M (alone) since a MW is P12 72°7 1077; seemingly 2n>
1% are also 0P oo

2. MooIN mentions that 19°KY PM> are wWR» 170 since they have no 9nX 1
12 21wn. However, previously mpoin stated'” that 12 27w InR 73 is a X2p.
How then is wX different from 12°X) 2M>; on the contrary we can certainly
derive 12°81 5m> from WX (as Moo said concerning M2 who is [only] P>n
mpna) 2!

¥ The 12°x1 913 fell because of their deterioration (and their own weight), as opposed to wX which damages
because of the (external) wind. See '} "0 M0 w"&". See ‘Thinking it over’ # 2.

? mooIn does not say that 19°%1 5> are different from 13, for 112 is P>11 7237 1% and they are i1 7917 (see
X"wamn); for as MooIn previously said that this is all the more reason to derive 12°X1 2m13 from 12.

' If we were discussing only a case of 7901 nyw3, then we could have compared 12°X1 %m3 to either WX or
712; however now that we are discussing 719°91 InX? also, which is different that WX, therefore we compare it
to M3, which is applicable in both cases of 71901 nyw2a and 77°51 INK>.

' See 2" X" and 17 MR 1" A,

12 See 3 11"7 2,71 mooIN.

13 See 191293 ,n"m1 oxmw nARen.
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